
MISC. PARTS

January 1, 2001 Parts-5L

STOCKED REPLACEMENT FAUCET BIBB SCREWS...        

35142- No. 5

1/2" BIBB SCREW 
8-32 GAUGE • CHROME

35148- No. 11

1/2" BIBB SCREW 
10-32 GAUGE • CHROME

35150- No. 13

3/8" BIBB SCREW 
10-32 GAUGE • CHROME

35158- No. 4

3/8" BIBB “LOC” SCREW 
8-32 GAUGE • CHROME

35154- No. 17

1/2" BIBB SCREW 
10-24 GAUGE • CHROME

35159- No. 5

1/2" BIBB “LOC” SCREW 
8-32 GAUGE • CHROME

35163- No. 17

1/2" BIBB SCREW 
10-24 GAUGE • CHROME

35151- No. 14

1/2" BIBB SCREW 
10-28 GAUGE • CHROME

35153- No. 16

3/8" BIBB SCREW 
10-24 GAUGE • CHROME

35138- No. 1

3/8" BIBB SCREW 
6-32 GAUGE • CHROME

35141- No. 4

3/8" BIBB SCREW 
8-32 GAUGE • CHROME

For More Information On These Products Or On Products Not Listed,
Call At (785) 823-2221

37800- No. 11

SCREW ASSORTMENT 
144 PIECES



36086- UNIVERSAL FIT

AERATOR WITH INTERNAL
EXPANDING ADAPTER

36084-

AERATOR - 13/16" • 27 
CHROME • SOLID BRASS BODY • MALE THREADS

36094B-

DISHWASHER AERATOR 
QUICK CONNECT • DELUXE MODEL

MISC. PARTS

Parts-5M January 1, 2001

36101B-

SPRAYRATOR - 15/16"
360° SWIVEL • ADJUSTABLE SPRAY • DUAL THREADS

36104B-

ADAPTER - 13/16" • 27 
FOR SPOUTS WITH FEMALE THREAD • KOHLER,
CENTRAL, UNION, INDIANA,SPEAKMAN, CHICAGO

36106-

ADAPTER - 15/16" • 27 
FOR SPOUTS WITH FEMALE THREAD
ALL MANUFACTURERS

36116B-

DISHWASHER AERATOR 
QUICK CONNECT • STANDARD MODEL • 55/64" x 27T

36115B-

DISHWASHER ADAPTER 
15/16" - 27T DUAL x 3/4" MALE HOSE THREAD X 

STANDARD DISHWASHER THREAD

36128B-

ADAPTER - 3/4" • 27 
FOR SPOUTS WITH MALE THREAD
KOHLER, PRICE-PFISTER

36108B-

SNAP ATTACHMENT 
FOR DISHWASHER • NIPPLE X 27T DUAL THREAD 

36112-

DISHWASHER ADAPTER 
55/64" - 27T MALE x 3/4" FEMALE HOSE THREAD

STOCKED REPLACEMENT HANDLES & HANDLE SCREWS...                 

STOCKED REPLACEMENT AERATORS & AERATOR ADAPTERS...          

80795- CARDED

AERATOR - 15/16" • 27 
CHROME • SOLID BRASS BODY • DUAL THREADS

88356-

SCREW ASSORTMENT 
2 EACH OF 35639, 35646, 35652, 35658 & 35659

88517- PAIR - CARDED

CROSS ARM HANDLE
VICE GRIP • UNIVERSAL 

20359- UB-21H PAIR

HANDLE PAK - UNION BRASS
OEM STYLE • FOR LAVATORY

35639- No. 38

SCREW - 1/2" • 10-24 
CHROME • OVAL HEAD

35646- No. 45

SCREW - 7/16" • 10-24 
CHROME • TRUSS HEAD

35652- No. 51

SCREW - 5/8" • 10-24 
CHROME • OVAL HEAD



MISC. PARTS

January 1, 2001 Parts-5N

36459- 2-Ply Reinforced Rubber

COUPLING NUT WASHER
RUBBER SINK STRAINER COUPLING NUT WASHER
13/4" OD • 13/8" ID • 1/8" THICK

36460- Poly Washer With 1/8" Lip

COUPLING NUT WASHER
P0LY SINK STRAINER COUPLING NUT WASHER
13/4" OD • 15/16" ID • 1/8" THICK

STOCKED STRAINERS & STRAINER COUPLING NUT WASHERS...        

STOCKED STOPPERS & BASIN GASKETS • DISPOSAL CONNECT...      

80058- CARDED

1" OD SNAP-IN STRAINER
CHROME PLATED BRASS • 11/32" OD • 3/4" DEPTH 

80060- CARDED

11/2" OD FLAT STRAINER
CHROME PLATED BRASS

80062- 10 CARDED

15/8" SNAP-IN STRAINER
1/4" DEEP • CHROME PLATED BRASS

80063- 11 CARDED

17/8" SNAP-IN STRAINER
1/4" DEEP • CHROME PLATED BRASS

80064- 12 CARDED

17/8" FLAT SNAP-IN 
SINK STRAINER 

80903- CARDED

BASKET STRAINER
WHITE PLASTIC WITH RUBBER STOPPER 

35974- 1" Stopper

35974- 2" Stopper

35978- 11/2" Stopper

35980- 13/4" Stopper

35981- 17/8" Stopper

RUBBER STOPPERS
WHITE • WITH SPLIT TYPE RING • STAIN PROOF

36562-

11/4" BASIN MACK GASKET
23/8" OD • 11/4" ID • 3/8" THICK

36563-

13/8" BASIN MACK GASKET
2" OD • 13/8" ID • 3/8" THICK • WIDE PATTERN

36564-

17/16" BASIN MACK GASKET
23/8" OD • 17/16" ID • 3/8" THICK

50877- 35

BASKET STRAINER
SCREW LOCK • 31/4" OD • 1" RIM TO STOPPER 

50532-

GASKET - 
RUBBER SINK STRAINER

50533-

GASKET - 
FIBER SINK STRAINER

80935- CARDED

DISHWASHER/DISPOSAL 
UNIVERSAL CONNECTION

continued on next page



MISC. PARTS

Parts-5O January 1, 2001

38122-

THREE HANDLE REMODELING COVER 
14" X 61/8" • MIRRORED ACRYLIC • FITS ALL STANDARD SHOWER FIXTURES

38121-

TWO HANDLE REMODELING COVER 
14" X 61/8" • MIRRORED ACRYLIC • FITS ALL STANDARD SHOWER FIXTURES

38123-

REMODELING COVER 
31/8" OD X 13/4" ID X 1/8" • MIRRORED ACRYLIC
FOR TUB SPOUT • FITS ALL STANDARD FIXTURES

38120-

SINGLE CONTROL REMODELING COVER 
14" X 81/8" • MIRRORED ACRYLIC • FITS ALL STANDARD SHOWER FIXTURES

STOCKED BATH RELATED PARTS...                  

36557-

OVERFLOW PLATE SCREW
CHROME PLATED BRASS • 11/2" x 1/4" x 20

36558- No. 63 With Screws

OVERFLOW PLATE
OCTAGON • CHROME PLATED • WITH TRIP LEVER

36540- No. 73 With Screws

OVERFLOW PLATE 
ROUND • CHROME PLATED • LESS TRIP LEVER

36560- No. 65 With Screws

OVERFLOW PLATE 
ROUND • CHROME PLATED • WITH TRIP LEVER

36572- No. 71 With Screws

OVERFLOW PLATE 
ROUND • WITH 15" CHAIN FOR STOPPER

36549-

FLAT BATH SHOE GASKET
25/8" OD • 111/16" ID • 3/32" THICK

36546-

C.W.O. BATH GASKET 
215/16" OD • 17/8" ID • FOR LEG TUB
TAPERED TO ALLOW FOR PITCH 

36548-

C.W.O. BATH GASKET 
33/16" OD • 21/8" ID • ADJ. SPONGE RUBBER
FOR CONNECTED WASTE & OVERFLOW

80765- CARDED

TUB DIVERTER SPOUT 
DIE CAST • CHROME FINISH • 1/2" OR 3/4" 

36579-

LOWER SUPPLY 
LEG TUB GASKET 

36594-

UPPER SUPPLY 
LEG TUB GASKET 



MISC. PARTS

January 1, 2001 Parts-5P

STOCKED REPLACEMENT BATH ESCUTCHEON & SLEEVES...   

continued on next page

34952- No. 1709

ESCUTCHEON SLEEVE
FOR UNION BRASS

34951- No. 1130

BATH ESCUTCHEON
FOR UNION BRASS

38051- No. 1710

ESCUTCHEON NIPPLE
FOR UNION BRASS

STOCKED HOSE WASHERS...        

36333-

5/8" HOSE WASHER
3/4" ID • 1" OD • 1/8" THICK

36335-

5/8" HOSE WASHER
9/16" ID • 1" OD • WITH SCREEN

80442- CARDED

4-IN-1 SILLCOCK KEY
FITS 1/4", 9/32", 5/16" & 11/32" SILLCOCKS

60370-

PULLER - 
#66 HANDLE-OFF

61762-

3/8" NIPPLE EXTRACTOR

61763-

1/2" NIPPLE EXTRACTOR

61764-

3/4" NIPPLE EXTRACTOR

60532-

BIBB SEAT WRENCH
HEX & SQUARE BROACH • UNIVERSAL STYLE  
CASE HARDENED • CADMIUM PLATED

STOCKED TOOLS...                  

STOCKED STOP REPAIRS • ICEMAKER KIT...                  

50512-

ICEMAKER KIT 
VALVE FITS 3/8" TO 1/2" IRON PIPE OR 1/4" TO 3/4"
COPPER TUBING • 1/4" X 25' VINYL TUBING 

35999-

12 PT. TEE HANDLE

94557-

ADAPTER - 
1/4 HOSE X 1/4 MIP



Parts-5Q January 1, 2001

MISC. PARTS

38803- No. C Use Ring No. C

MOLDED CONE WASHER
13/16" OD • 19/32" ID • 1/4" H • SLIP JOINT
FOR 3/8" IPS BALLCOCK SUPPLY & LAUNDRY TRAYS

36644- No. 2 Use Ring No. 2

RUBBER S.J. WASHER
11/4" NUT • 11/4" TUBE • 11/4" ID • 17/16" OD • 3/16" H

STOCKED SLIP JOINT WASHERS & FRICTION RINGS...   

36675- No. 2 Use w/Washer No. 2

S.J. FRICTION RING
11/4" NUT • 11/4" TUBE • 117/64" ID • 11/2" OD

36676- No. 3 Use w/Washer No. 3

S.J. FRICTION RING
11/2" NUT • 11/4" TUBE • 117/64" ID • 13/4" OD

36678- No. 6 Use w/Washer No. 6

S.J. FRICTION RING
11/2" NUT • 11/2" TUBE • 133/64" ID • 13/4" OD

36660-

NYLON S.J. WASHER
11/4" WASHER • 11/2" OD • 11/4" ID • 1/4" THICK

36661-

NYLON S.J. WASHER
11/2" WASHER • 13/4" OD • 11/2" ID • 1/4" THICK

36662-

NYLON S.J. WASHER
11/2" WASHER • 13/4" OD • 11/4" ID • 1/4" THICK

36647- No. 3 Use Ring No. 3

RUBBER S.J. WASHER
11/2" NUT • 11/4" TUBE • 17/32" ID • 123/32" OD • 3/16"H

36648- No. 5 Use Ring No. 6

RUBBER S.J. WASHER
11/2" NUT • 13/8" TUBE • 11/4" ID • 119/32" OD • 3/16"H

36649- No. 6 Use Ring No. 6

RUBBER S.J. WASHER
11/2" NUT • 11/2" TUBE • 11/2" ID • 111/16" OD • 3/16" H

36652- No. 7 Use Ring No. 7

RUBBER S.J. WASHER
2" NUT • 2" TUBE • 17/8" ID • 21/16" OD • 3/16" H

36656- No. 19 Use Ring No. J

RUBBER S.J. WASHER
1/2" NUT • 3/8" TUBE • 3/8" ID • 11/16" OD • 3/16" H

36583-

BEVELED SLIP JOINT 
WASHER 

For More Information On These Products Or On Products Not Listed,
Call At (785) 823-2221



MYERS PARTS

January 1, 2001 Parts-5R

STOCKED CLOSET PARTS...   

43080-

TRIP LEVER - 
CRANE WHITE

40120-

TRIP LEVER - 
ELJER SIDE-MOUNT

40123-

TRIP LEVER - 
CRANE CHROME

41847-

BUMPER - 
TOILET SEAT KIT

88095- PAIR

BOLT - 
3/8" TOILET SEAT HINGE 

40531-

CAP - CLOSET BOLT SET

40603-

WASHER - TANK BOLT

40079-

GASKET - FLUSH VALVE
BEVELED

40484-

GASKET - 1" SPUD

40485-

GASKET - 
TANK TO BOWL GERBER

40487-

GASKET - 
TANK TO BOWL CRANE

40490-

GASKET - 
TANK TO BOWL 7/8"

40480-

GASKET - 11/2" SPUD

40479-

GASKET - 2" SPUD

40481-

GASKET - 11/4" SPUD

40477-

GASKET - 
TANK TO BOWL 11/16

40478-

GASKET - 
TANK TO BOWL KOHLER

continued on next page



MISC. PARTS

Parts-5S January 1, 2001

41071W- No. 1-B1

BALLCOCK REPAIR KIT 
KIT CONTAINS: •3 #113 BONNET SCREWS  •#117 COMPLETE PISTON   

•#118 11/4" DIAPHRAGM  •#119 11/2" DIAPHRAGM  •#122 CAP GASKET

41126-

3/4" CLEANOUT PLUG 
FOR URINAL & UNIVERSAL SINK • A 3/4" • B 1/2"

41127-

1" URINAL PLUG 
FOR URINAL & UNIVERSAL SINK • A 1" • B 1/2"

41129-

PLUG - 1/2" URINAL 
FOR URINAL & UNIVERSAL SINK • A 3/4" • B 11/16"

80042- CARDED

KIT - REPAIR 
FOR CRANE DIALEZE

80775-

WASHER - 
VOLUME CONTROL

80793-

PACKING - 
24" SELF FORMING ROPE

80416-

HANDLE - 
SQUARE VALVE

STOCKED CLOSET & URINAL PARTS...   

40512- Solid Brass

2" FRICTION RING 
FOR CLOSET SPUD • 33/16" X 23/8" X 1/32"

40511- Solid Brass

11/2" FRICTION RING 
FOR CLOSET SPUD • 211/16" X 115/16" X 1/32"

40510- Solid Brass

11/4" FRICTION RING 
FOR CLOSET SPUD • 27/16" X 111/16" X 1/32"

STOCKED MISCELLANEOUS PARTS...   

COASTMASTER

34227-

BUSHING -
BRASS FACE DANCO

For More Information On These Products Or
On Products Not Listed, Call 

At (785) 823-2221

73107-

TAILPIECE NUT


